

LOGARITHMIC CONVEXITY AND INEQUALITIES FOR INTEGRALS OF GEOMETRICALLY CONVEX FUNCTIONS

BO-YAN XI, YAN WANG AND FENG QI*

(Communicated by I. Perić)

Abstract. In the paper, the authors present logarithmic convexity and inequalities for integrals of geometrically convex functions. These results refine and generalize the celebrated Hermite–Hadamard’s integral inequality.

1. Introduction

In this paper, we use I to denote an interval on $\mathbb{R}$ and use I° to denote the interior of the interval I .

We firstly list several definitions and some known results.

DEFINITION 1.1. ([5, p. 15, Definition 1] and [6, p. 1, Definition 1.1.1]) A function $f : I \subseteq \mathbb{R} = (-\infty, \infty) \rightarrow \mathbb{R}$ is said to be convex on an interval I if

$$f(\lambda x + (1 - \lambda)y) \leq \lambda f(x) + (1 - \lambda)f(y)$$

holds for all $x, y \in I$ and $\lambda \in [0, 1]$.

DEFINITION 1.2. ([6, p. 21, Definition 1.3.1] and [7, p. 48]) A function $f : I \subseteq \mathbb{R} \rightarrow \mathbb{R}_+ = (0, \infty)$ is said to be logarithmically convex if

$$f(\lambda x + (1 - \lambda)y) \leq [f(x)]^\lambda [f(y)]^{1-\lambda}$$

holds for all $x, y \in I$ and $\lambda \in [0, 1]$.

DEFINITION 1.3. ([1, 4]) A function $f : I \subseteq \mathbb{R}_+ \rightarrow \mathbb{R}_+$ is said to be geometrically convex if

$$f(x^\lambda y^{1-\lambda}) \leq [f(x)]^\lambda [f(y)]^{1-\lambda}$$

holds for all $x, y \in I$ and $\lambda \in [0, 1]$.

Mathematics subject classification (2020): Primary 26A51, 26D15; Secondary 41A55.

Keywords and phrases: Integral inequality of Hermite–Hadamard type, geometrically convex function, logarithmically convex function.

This work was partially supported by the National Natural Science Foundation of China (Grant No. 12361013), by the Natural Science Foundation of Inner Mongolia Autonomous Region (Grant Nos. 2025LHMS01003 and 2025QN01041), by the Doctoral Scientific Research Foundation of Inner Mongolia Minzu University (Grant No. BSZ053), and by the Youth Project of Hulunbuir City for Basic Research and Applied Basic Research (Grant No. GH2024020).

* Corresponding author.

In [2, 3], Dragomir et al. established the following integral inequalities of the Hermite–Hadamard type for the integral mean of convex functions.

THEOREM 1.1. ([2, Theorem 1]) *Let $f : I \subseteq \mathbb{R} \rightarrow \mathbb{R}$ be a convex function on I° and $a, b \in I^\circ$ with $a < b$. Then the function $H : [0, 1] \rightarrow \mathbb{R}$ defined by*

$$H(t) = \frac{1}{b-a} \int_a^b f\left(tx + (1-t)\frac{a+b}{2}\right) dx \quad (1.1)$$

is convex on $[0, 1]$ and increasing on $[0, 1]$ with

$$\inf_{t \in [0, 1]} H(t) = H(0) = f\left(\frac{a+b}{2}\right)$$

and

$$\sup_{t \in [0, 1]} H(t) = H(1) = \frac{1}{b-a} \int_a^b f(x) dx.$$

THEOREM 1.2. ([2, Theorem 2]) *Let $f : I \subseteq \mathbb{R} \rightarrow \mathbb{R}$ be a convex function on I° and $a, b \in I^\circ$ with $a < b$. Then the function $F : [0, 1] \rightarrow \mathbb{R}$ defined by*

$$F(t) = \frac{1}{(b-a)^2} \int_a^b \int_a^b f(tx + (1-t)y) dx dy \quad (1.2)$$

is convex on $[0, 1]$, symmetric with respect to $\frac{1}{2}$, decreasing on $[0, \frac{1}{2}]$, and increasing on $[\frac{1}{2}, 1]$, with

$$\begin{aligned} \sup_{t \in [0, 1]} F(t) &= F(0) = F(1) = \frac{1}{b-a} \int_a^b f(x) dx, \\ \inf_{t \in [0, 1]} F(t) &= F\left(\frac{1}{2}\right) = \frac{1}{(b-a)^2} \int_a^b \int_a^b f\left(\frac{x+y}{2}\right) dx dy, \\ f\left(\frac{a+b}{2}\right) &\leq F\left(\frac{1}{2}\right), \end{aligned}$$

and $H(t) \leq F(t)$ for $t \in [0, 1]$, where $H(t)$ is defined by (1.1).

THEOREM 1.3. ([3, Theorem 2]) *Let $f : I \subseteq \mathbb{R} \rightarrow \mathbb{R}$ be a convex function on I° and $a, b \in I^\circ$ with $a < b$. Then the function $G : [0, 1] \rightarrow \mathbb{R}$ defined by*

$$G(t) = \frac{1}{2} \left[f\left(ta + (1-t)\frac{a+b}{2}\right) + f\left(tb + (1-t)\frac{a+b}{2}\right) \right] \quad (1.3)$$

is convex and increasing on $[0, 1]$ with

$$\begin{aligned}\sup_{t \in [0,1]} G(t) &= G(1) = \frac{f(a) + f(b)}{2}, \\ \inf_{t \in [0,1]} G(t) &= G(0) = f\left(\frac{a+b}{2}\right), \\ H(t) - f\left(\frac{a+b}{2}\right) &\leq G(t) - H(t),\end{aligned}$$

and $H(t) \leq G(t)$ for $t \in [0, 1]$, where $H(t)$ is defined by (1.1).

THEOREM 1.4. ([3, Theorem 3]) *Let $f : I \subseteq \mathbb{R} \rightarrow \mathbb{R}$ be a convex function on I° and $a, b \in I^\circ$ with $a < b$. Then the functions $H(t)$ defined by (1.1) and $L : [0, 1] \rightarrow \mathbb{R}$ defined by*

$$L(t) = \frac{1}{2(b-a)} \int_a^b [f(ta + (1-t)x) + f(tb + (1-t)x)] dx$$

are convex on $[0, 1]$ and satisfy the inequalities

$$G(t) \leq L(t) \leq \frac{1-t}{b-a} \int_a^b f(x) dx + t \frac{f(a) + f(b)}{2} \leq \frac{f(a) + f(b)}{2}$$

and

$$\max \left\{ H(1-t), \frac{H(t) + H(1-t)}{2} \right\} \leq L(t)$$

for $t \in [0, 1]$ with

$$\sup_{t \in [0,1]} L(t) = L(1) = \frac{f(a) + f(b)}{2},$$

where $G(t)$ is defined by (1.3).

Several similar integral inequalities of the Hermite–Hadamard type were also acquired in the papers [8, 9, 10, 11] and related references therein.

Let $f : I \subseteq \mathbb{R}_+ \rightarrow \mathbb{R}_+$ be a geometrically convex function on I° and $a, b \in I^\circ$ with $a < b$. For all $t \in [0, 1]$, define

$$H_G(t) = \frac{1}{\ln b - \ln a} \int_a^b \frac{1}{x} f\left(x^t (\sqrt{ab})^{1-t}\right) dx, \quad (1.4)$$

$$H_B(t) = \frac{1}{\ln b - \ln a} \int_a^b \frac{1}{x} \left[f\left(x^t (\sqrt{ab})^{1-t}\right) f\left(x^{1-t} (\sqrt{ab})^t\right) \right]^{1/2} dx, \quad (1.5)$$

$$F_G(t) = \frac{1}{(\ln b - \ln a)^2} \int_a^b \int_a^b \frac{1}{xy} f(x^t y^{1-t}) dx dy, \quad (1.6)$$

$$F_B(t) = \frac{1}{(\ln b - \ln a)^2} \int_a^b \int_a^b \frac{1}{xy} [f(x^t y^{1-t}) f(x^{1-t} y^t)]^{1/2} dx dy. \quad (1.7)$$

In this paper, motivated by the above results recited from [2, 3], we will present the logarithmic convexity and establish several new integral inequalities of the Hermite–Hadamard type for the functions $H_G(t)$, $H_B(t)$, $F_G(t)$, and $F_B(t)$.

2. Main results

Now we start out to present the logarithmic convexity and establish some new integral inequalities of the Hermite–Hadamard type for the four functions $H_G(t)$, $H_B(t)$, $F_G(t)$, and $F_B(t)$.

THEOREM 2.1. *Let $f : I \subseteq \mathbb{R}_+ \rightarrow \mathbb{R}_+$ be a geometrically convex function on I° and $a, b \in I^\circ$ with $a < b$. Then the function $H_G(t)$ defined by (1.4) is logarithmically convex and increasing on $[0, 1]$ and satisfies*

$$f(\sqrt{ab}) \leq H_G(t) \leq \frac{1}{\ln b - \ln a} \int_a^b \frac{f(x)}{x} dx \leq L(f(a), f(b)),$$

with

$$\inf_{t \in [0, 1]} H_G(t) = H_G(0) = f(\sqrt{ab})$$

and

$$\sup_{t \in [0, 1]} H_G(t) = H_G(1) = \frac{1}{\ln b - \ln a} \int_a^b \frac{f(x)}{x} dx,$$

where $L(u, v)$ is the logarithmic mean

$$L(u, v) = \begin{cases} \frac{v-u}{\ln v - \ln u}, & u \neq v \\ u, & u = v \end{cases} \quad (2.1)$$

for $u, v \in \mathbb{R}_+$.

Proof. For all $\lambda, t_1, t_2 \in [0, 1]$, by the geometrically convexity of f and the Hölder integral inequality, we have

$$\begin{aligned} & H_G(\lambda t_1 + (1 - \lambda)t_2) \\ &= \frac{1}{\ln b - \ln a} \int_a^b \frac{1}{x} f\left([x^{t_1}(\sqrt{ab})^{1-t_1}]^\lambda [x^{t_2}(\sqrt{ab})^{1-t_2}]^{1-\lambda}\right) dx \\ &\leq \frac{1}{\ln b - \ln a} \int_a^b \frac{1}{x} \left[f(x^{t_1}(\sqrt{ab})^{1-t_1})\right]^\lambda \left[f(x^{t_2}(\sqrt{ab})^{1-t_2})\right]^{1-\lambda} dx \\ &\leq \frac{1}{\ln b - \ln a} \left[\int_a^b \frac{1}{x} f(x^{t_1}(\sqrt{ab})^{1-t_1}) dx\right]^\lambda \left[\int_a^b \frac{1}{x} f(x^{t_2}(\sqrt{ab})^{1-t_2}) dx\right]^{1-\lambda} \\ &= [H_B(t_1)]^\lambda [H_B(t_2)]^{1-\lambda}. \end{aligned}$$

Therefore, the function $H_G(t)$ is logarithmically convex on $[0, 1]$. As a result, the function $H_G(t)$ is convex on $[0, 1]$. Furthermore, we obtain

$$\begin{aligned} H_G(t) &= \frac{1}{\ln b - \ln a} \int_a^b \frac{1}{x} f\left(x^t (\sqrt{ab})^{1-t}\right) dx \\ &= \frac{1}{\ln b - \ln a} \int_a^b f \circ g \left(t \ln x + (1-t) \frac{\ln a + \ln b}{2} \right) d \ln x, \end{aligned}$$

where $g(u) = e^u$ for $u \in [\ln a, \ln b]$ and $f \circ g$ is a convex function on $[\ln a, \ln b]$. Utilizing the convexity of $f \circ g$ on $[\ln a, \ln b]$ and Theorem 1.1, we see that the function $H_G(t)$ is increasing on $[0, 1]$. Consequently, we gain

$$\inf_{t \in [0, 1]} H_G(t) = H_G(0) = \frac{1}{\ln b - \ln a} \int_a^b \frac{f(\sqrt{ab})}{x} dx = f(\sqrt{ab})$$

and

$$\begin{aligned} \sup_{t \in [0, 1]} H_G(t) &= H_G(1) = \frac{1}{\ln b - \ln a} \int_a^b \frac{f(x)}{x} dx \\ &= \int_0^1 f(a^t b^{1-t}) dt \leq \int_0^1 [f(a)]^t [f(b)]^{1-t} dt = L(f(a), f(b)). \end{aligned}$$

The proof of Theorem 2.1 is complete. $\square$

THEOREM 2.2. *Let $f: I \subseteq \mathbb{R}_+ \rightarrow \mathbb{R}_+$ be a geometrically convex function on I° and $a, b \in I^\circ$ with $a < b$.*

1. *The functions $F_G(t)$ and $F_B(t)$ defined by (1.6) and (1.7), respectively, are logarithmically convex on $[0, 1]$ and symmetric with respect to $\frac{1}{2}$, decreasing on $[0, \frac{1}{2}]$ and increasing on $[\frac{1}{2}, 1]$, with*

$$\begin{aligned} \sup_{t \in [0, 1]} F_B(t) &= F_B(0) = F_B(1) = \left[\frac{1}{\ln b - \ln a} \int_a^b \frac{[f(x)]^{1/2}}{x} dx \right]^2 \\ &\leq \frac{1}{\ln b - \ln a} \int_a^b \frac{f(x)}{x} dx = \sup_{t \in [0, 1]} F_G(t) = F_G(0) = F_G(1) \end{aligned}$$

and

$$\begin{aligned} \inf_{t \in [0, 1]} F_G(t) &= \inf_{t \in [0, 1]} F_B(t) = F_G\left(\frac{1}{2}\right) \\ &= F_B\left(\frac{1}{2}\right) = \frac{1}{(\ln b - \ln a)^2} \int_a^b \int_a^b \frac{f(\sqrt{xy})}{xy} dx dy. \end{aligned}$$

2. For all $t \in [0, 1]$, we have the inequality

$$\begin{aligned} f(\sqrt{ab}) &\leq \frac{1}{(\ln b - \ln a)^2} \int_a^b \int_a^b \frac{f(\sqrt{xy})}{xy} dx dy \\ &\leq F_B(t) \leq F_G(t) \leq \frac{1}{\ln b - \ln a} \int_a^b \frac{f(x)}{x} dx \leq L(f(a), f(b)), \end{aligned}$$

where $L(u, v)$ is the logarithmic mean defined by (2.1).

Proof. For all $\lambda, t_1, t_2 \in [0, 1]$, using the geometrically convexity of f and making use of the Hölder integral inequality yield

$$\begin{aligned} &F_G(\lambda t_1 + (1 - \lambda)t_2) \\ &= \frac{1}{(\ln b - \ln a)^2} \int_a^b \int_a^b \frac{1}{xy} f\left([x^{t_1} y^{1-t_1}]^\lambda [x^{t_2} y^{1-t_2}]^{1-\lambda}\right) dx dy \\ &\leq \frac{1}{(\ln b - \ln a)^2} \int_a^b \int_a^b \frac{1}{xy} [f(x^{t_1} y^{1-t_1})]^\lambda [f(x^{t_2} y^{1-t_2})]^{1-\lambda} dx dy \\ &\leq \frac{1}{(\ln b - \ln a)^2} \left[\int_a^b \int_a^b \frac{1}{xy} f(x^{t_1} y^{1-t_1}) dx dy \right]^\lambda \left[\int_a^b \int_a^b \frac{1}{xy} f(x^{t_2} y^{1-t_2}) dx dy \right]^{1-\lambda} \\ &= [F_G(t_1)]^\lambda [F_G(t_2)]^{1-\lambda}. \end{aligned}$$

Similarly, we have

$$F_B(\lambda t_1 + (1 - \lambda)t_2) \leq [F_B(t_1)]^\lambda [F_B(t_2)]^{1-\lambda}.$$

Accordingly, the function $F_G(t)$ and $F_B(t)$ are logarithmically convex on $[0, 1]$.

It is straightforward to show that

$$F_G\left(\frac{1}{2} + t\right) = F_G\left(\frac{1}{2} - t\right) \quad \text{and} \quad F_B\left(\frac{1}{2} + t\right) = F_B\left(\frac{1}{2} - t\right)$$

for all $t \in [0, \frac{1}{2}]$.

Employing the geometrically convexity of f yields

$$\begin{aligned} F_G(t) &= \frac{1}{(\ln b - \ln a)^2} \int_a^b \int_a^b \frac{f(x^t y^{1-t}) + f(x^{1-t} y^t)}{2xy} dx dy \\ &\geq \frac{1}{(\ln b - \ln a)^2} \int_a^b \int_a^b \frac{1}{xy} [f(x^t y^{1-t}) f(x^{1-t} y^t)]^{1/2} dx dy \\ &= F_B(t) \\ &\geq \frac{1}{(\ln b - \ln a)^2} \int_a^b \int_a^b \frac{f(\sqrt{xy})}{xy} dx dy \\ &= F_G\left(\frac{1}{2}\right) = F_B\left(\frac{1}{2}\right). \end{aligned}$$

Thus, the functions $F_G(t)$ and $F_B(t)$ are symmetric with respect to $\frac{1}{2}$, decreasing on $[0, \frac{1}{2}]$, and increasing on $[\frac{1}{2}, 1]$.

By the geometrically convexity of f on $[a, b]$, we acquire

$$\begin{aligned} f(\sqrt{ab}) &= f([(a^\lambda b^{1-\lambda})(a^\mu b^{1-\mu})]^{1/4} [(a^{1-\lambda} b^\lambda)(a^{1-\mu} b^\mu)]^{1/4}) \\ &\leq [f([(a^\lambda b^{1-\lambda})(a^\mu b^{1-\mu})]^{1/2})]^{1/2} [f([(a^{1-\lambda} b^\lambda)(a^{1-\mu} b^\mu)]^{1/2})]^{1/2} \end{aligned} \quad (2.2)$$

for all $\lambda, \mu \in [0, 1]$.

For all $\lambda, \mu \in [0, 1]$, taking $x = a^\lambda b^{1-\lambda}$, $y = a^\mu b^{1-\mu}$ and $x = a^{1-\lambda} b^\lambda$, $y = a^{1-\mu} b^\mu$, integrating both sides of (2.2) over $(\lambda, \mu) \in [0, 1] \times [0, 1]$, and utilizing the Cauchy inequality figure out

$$\begin{aligned} f(\sqrt{ab}) &\leq \left[\int_0^1 \int_0^1 f([(a^\lambda b^{1-\lambda})(a^\mu b^{1-\mu})]^{1/2}) d\lambda d\mu \right]^{1/2} \\ &\quad \times \left[\int_0^1 \int_0^1 f([(a^{1-\lambda} b^\lambda)(a^{1-\mu} b^\mu)]^{1/2}) d\lambda d\mu \right]^{1/2} \\ &= \frac{1}{(\ln b - \ln a)^2} \int_a^b \int_a^b \frac{f(\sqrt{xy})}{xy} dx dy, \\ \frac{1}{\ln b - \ln a} \int_a^b \frac{[f(x)]^{1/2}}{x} dx &\leq \left[\frac{1}{\ln b - \ln a} \int_a^b \frac{f(x)}{x} dx \right]^{1/2}, \end{aligned}$$

and

$$\frac{1}{\ln b - \ln a} \int_a^b \frac{f(x)}{x} dx \leq L(f(a), f(b)).$$

The proof of Theorem 2.2 is complete. $\square$

COROLLARY 2.1. *Let the function $F(t)$ be defined by (1.2). Under the conditions of Theorem 2.2,*

1. *if f is increasing on $[a, b]$, then, for all $t \in [0, 1]$,*

$$\begin{aligned} \frac{1}{(\ln b - \ln a)^2} \int_a^b \int_a^b f(\sqrt{xy}) dx dy \\ \leq F_B(t) \leq F_G(t) \leq F(t) \leq \frac{1}{\ln b - \ln a} \int_a^b f(x) dx; \end{aligned}$$

2. *if f is decreasing on $[a, b]$, then, for all $t \in [0, 1]$,*

$$\frac{1}{(\ln b - \ln a)^2} \int_a^b \int_a^b f(\sqrt{xy}) dx dy \leq F(t) \leq F_G(t) \leq \frac{1}{\ln b - \ln a} \int_a^b f(x) dx.$$

THEOREM 2.3. *Let $f: I \subseteq \mathbb{R}_+ \rightarrow \mathbb{R}_+$ be a geometrically convex function on I° , let $a, b \in I^\circ$ with $a < b$, and let $H_B(t)$, $F_G(t)$, and $F_B(t)$ be the functions defined*

by (1.5), (1.6), and (1.7), respectively. Then

1. the function $H_B(t)$ is logarithmically convex on $[0, 1]$, symmetric with respect to $\frac{1}{2}$, decreasing on $[0, \frac{1}{2}]$, and increasing on $[\frac{1}{2}, 1]$, with

$$\sup_{t \in [0, 1]} H_B(t) = H_B(0) = H_B(1) = \frac{[f(\sqrt{ab})]^{1/2}}{\ln b - \ln a} \int_a^b \frac{[f(x)]^{1/2}}{x} dx$$

and

$$\inf_{t \in [0, 1]} H_B(t) = H_B\left(\frac{1}{2}\right) = \frac{1}{\ln b - \ln a} \int_a^b \frac{f((x\sqrt{ab})^{1/2})}{x} dx;$$

2. the inequalities

$$\begin{aligned} f(\sqrt{ab}) \leq H_B\left(\frac{1}{2}\right) \leq H_B(t) \leq F_B(t) \leq F_G(t) \\ \leq \frac{1}{\ln b - \ln a} \int_a^b \frac{f(x)}{x} dx \leq L(f(a), f(b)) \end{aligned}$$

and

$$\begin{aligned} f(\sqrt{ab}) \leq H_B\left(\frac{1}{2}\right) \leq H_B(t) \leq \frac{[f(\sqrt{ab})]^{1/2}}{\ln b - \ln a} \int_a^b \frac{[f(x)]^{1/2}}{x} dx \\ \leq [f(\sqrt{ab})]^{1/2} L([f(a)]^{1/2}, [f(b)]^{1/2}), \end{aligned}$$

hold for all $t \in [0, 1]$, where $L(u, v)$ is the logarithmic mean defined by (2.1).

Proof. For all $\lambda, t_1, t_2 \in [0, 1]$, using the geometrically convexity of f and the Hölder integral inequality gives

$$\begin{aligned} & H_B(\lambda t_1 + (1 - \lambda)t_2) \\ &= \frac{1}{b - a} \int_a^b \frac{1}{x} [f(x^{t_1}(\sqrt{ab})^{1-t_1})]^\lambda [x^{t_2}(\sqrt{ab})^{1-t_2}]^{1-\lambda} \\ &\quad \times f([x^{1-t_1}(\sqrt{ab})^{t_1}]^\lambda [x^{1-t_2}(\sqrt{ab})^{t_2}]^{1-\lambda})^{1/2} dx \\ &\leq \frac{1}{b - a} \int_a^b \frac{1}{x} [f(x^{t_1}(\sqrt{ab})^{1-t_1})]^\lambda [f(x^{1-t_1}(\sqrt{ab})^{t_1})]^{1/2} \\ &\quad \times [f(x^{t_2}(\sqrt{ab})^{1-t_2})]^\lambda [f(x^{1-t_2}(\sqrt{ab})^{t_2})]^{1/2} dx \\ &\leq \frac{1}{b - a} \left\{ \int_a^b \frac{1}{x} [f(x^{t_1}(\sqrt{ab})^{1-t_1})]^\lambda [f(x^{1-t_1}(\sqrt{ab})^{t_1})]^{1/2} dx \right\}^\lambda \\ &\quad \times \left\{ \int_a^b \frac{1}{x} [f(x^{t_2}(\sqrt{ab})^{1-t_2})]^\lambda [f(x^{1-t_2}(\sqrt{ab})^{t_2})]^{1/2} dx \right\}^{1-\lambda} \\ &= [H_B(t_1)]^\lambda [H_B(t_2)]^{1-\lambda}. \end{aligned}$$

Hence, the function $H_B(t)$ is logarithmically convex on $[0, 1]$.

For all $t \in [0, \frac{1}{2}]$, it is easy to observe that $H_B(\frac{1}{2} + t) = H_B(\frac{1}{2} - t)$ and by the geometrically convexity of f , we have

$$\begin{aligned} H_B(t) &= \frac{1}{\ln b - \ln a} \int_a^b \frac{1}{x} \left[f(x^t (\sqrt{ab})^{1-t}) f(x^{1-t} (\sqrt{ab})^t) \right]^{1/2} dx \\ &\geq \frac{1}{\ln b - \ln a} \int_a^b \frac{1}{x} f([x(\sqrt{ab})]^{1/2}) dx \\ &= H_B\left(\frac{1}{2}\right). \end{aligned}$$

Therefore, the function $H_B(t)$ is symmetric with respect to $\frac{1}{2}$, decreasing on $[0, \frac{1}{2}]$ and increasing on $[\frac{1}{2}, 1]$.

For all $\lambda \in [0, 1]$ and $x \in [a, b]$, it is clear that $ab = a^\lambda b^{1-\lambda} a^{1-\lambda} b^\lambda$ for $\lambda \in [0, 1]$. By the geometrically convexity of f , we can write

$$\begin{aligned} &f(x^t (\sqrt{ab})^{1-t}) f(x^{1-t} (\sqrt{ab})^t) \\ &= f((x^t (a^\lambda b^{1-\lambda})^{1-t}) (x^{1-t} (a^{1-\lambda} b^\lambda)^{1-t}))^{1/2} \\ &\quad \times f(((x^{1-t} (a^\lambda b^{1-\lambda})^t) (x^{1-t} (a^{1-\lambda} b^\lambda)^t)))^{1/2} \\ &\leq [f(x^t (a^\lambda b^{1-\lambda})^{1-t}) f(x^{1-t} (a^\lambda b^{1-\lambda})^t) \\ &\quad \times f(x^t (a^{1-\lambda} b^\lambda)^{1-t}) f(x^{1-t} (a^{1-\lambda} b^\lambda)^t)]^{1/2}. \end{aligned}$$

Integrating the above inequalities over $(x, \lambda) \in [a, b] \times [0, 1]$ and making the change of variable $y = a^\lambda b^{1-\lambda}$ for $\lambda \in [0, 1]$, we arrive at

$$\begin{aligned} H_B(t) &= \frac{1}{\ln b - \ln a} \int_a^b \frac{1}{x} \left[f(x^t (\sqrt{ab})^{1-t}) f(x^{1-t} (\sqrt{ab})^t) \right]^{1/2} dx \\ &\leq \frac{1}{\ln b - \ln a} \int_0^1 \int_a^b \frac{1}{x} [f(x^t (a^\lambda b^{1-\lambda})^{1-t}) f(x^{1-t} (a^\lambda b^{1-\lambda})^t) \\ &\quad \times f(x^t (a^{1-\lambda} b^\lambda)^{1-t}) f(x^{1-t} (a^{1-\lambda} b^\lambda)^t)]^{1/4} dx d\lambda \\ &\leq \frac{1}{\ln b - \ln a} \left\{ \int_0^1 \int_a^b [a^\lambda b^{1-\lambda} f(x^t (a^\lambda b^{1-\lambda})^{1-t}) f(x^{1-t} (a^\lambda b^{1-\lambda})^t)]^{1/2} dx d\lambda \right\}^{1/2} \\ &\quad \times \left\{ \int_0^1 \int_a^b [a^{1-\lambda} b^\lambda f(x^t (a^{1-\lambda} b^\lambda)^{1-t}) f(x^{1-t} (a^{1-\lambda} b^\lambda)^t)]^{1/2} dx d\lambda \right\}^{1/2} \\ &= \frac{1}{(\ln b - \ln a)^2} \int_a^b \int_a^b \frac{1}{xy} [f(x^t y^{1-t}) f(x^{1-t} y^t)]^{1/2} dx dy \\ &= F_B(t). \end{aligned}$$

Similarly, making the change of variable and the Cauchy inequality, we acquire

$$\begin{aligned}
 f(\sqrt{ab}) &= \int_0^1 f(\sqrt{ab}) d\lambda \\
 &= \int_0^1 f([(a^\lambda b^{1-\lambda}) (a^{1-\lambda} b^\lambda)]^{1/4} (ab)^{1/4}) d\lambda \\
 &\leq \int_0^1 [f([(a^\lambda b^{1-\lambda})^{1/2} (ab)^{1/4})]^{1/2} [f([(a^{1-\lambda} b^\lambda)^{1/2} (ab)^{1/4})]^{1/2} d\lambda \\
 &\leq \left[\int_0^1 f([(a^\lambda b^{1-\lambda})^{1/2} (ab)^{1/4}) d\lambda \right]^{1/2} \left[\int_0^1 f([(a^{1-\lambda} b^\lambda)^{1/2} (ab)^{1/4}) d\lambda \right]^{1/2} \\
 &= \frac{1}{\ln b - \ln a} \int_a^b \frac{f((x\sqrt{ab})^{1/2})}{x} dx.
 \end{aligned}$$

Theorem 2.3 is thus proved. $\square$

3. Conclusions

This paper defined four integral mean functions of geometrically convex functions and investigated the logarithmically convexity of these four types of integral means. It also established several related inequalities. These results refined and extended the well-known Hermite–Hadamard integral inequality.

REFERENCES

- [1] M. AVRIEL, *r-convex functions*, Math. Programming **2** (1972), no. 1, 309–323, <https://doi.org/10.1007/BF01584551>.
- [2] S. S. DRAGOMIR, *Two mappings in connection to Hadamard's inequalities*, J. Math. Anal. Appl. **167** (1992), no. 1, 49–56, [http://dx.doi.org/10.1016/0022-247X\(92\)90233-4](http://dx.doi.org/10.1016/0022-247X(92)90233-4).
- [3] S. S. DRAGOMIR, D. S. MILOŠVIĆ, AND J. SÁNDOR, *On some refinements of Hadamard's inequalities and applications*, Univ. Beograd. Publ. Elektrotehn. Fak. Ser. Mat. Fiz. **4** (1993), 3–10, <https://www.jstor.org/stable/43666351>.
- [4] D. GRONAU AND J. MATKOWSKI, *Geometrically convex solutions of certain difference equations and generalized Bohr-Mollerup type theorems*, Results Math. **26** (1994), no. 3–4, 290–297, <https://doi.org/10.1007/BF03323051>.
- [5] D. S. MITRINOVIĆ, *Analytic Inequalities*, Springer-Verlag, 1970.
- [6] C. P. NICULESCU AND L.-E. PERSSON, *Convex Functions and Their Applications: A Contemporary Approach*, third edition, CMS Books in Mathematics/Ouvrages de Mathématiques de la SMC, Springer, Cham, 2025, <https://doi.org/10.1007/978-3-031-71967-7>.
- [7] J. E. PEČARIĆ, F. PROSCHAN, AND Y. L. TONG, *Convex Functions, Partial Orderings and Statistical Applications*, Academic Press, 1991.
- [8] K.-L. TSENG, S.-R. HWANG, AND S. S. DRAGOMIR, *New Hermite–Hadamard-type inequalities for convex functions (I)*, Appl. Math. Lett. **25** (2012), no. 6, 1005–1009, <https://doi.org/10.1016/j.aml.2011.11.016>.
- [9] K.-L. TSENG, S.-R. HWANG, AND S. S. DRAGOMIR, *New Hermite–Hadamard-type inequalities for convex functions (II)*, Comput. Math. Appl. **62** (2011), no. 1, 401–418, <https://doi.org/10.1016/j.camwa.2011.05.023>.

- [10] K.-L. TSENG, G.-S. YANG, AND K.-C. HSU, *On some inequalities of Hadamard's type and applications*, Taiwanese J. Math. **13** (2009), no. 6B, 1929–1948,
<https://doi.org/10.11650/twjm/1500405649>.
- [11] G.-S. YANG AND M.-C. HONG, *A note on Hadamard's inequality*, Tamkang J. Math. **28** (1997), no. 1, 33–37, <https://doi.org/10.5556/j.tkjm.28.1997.4331>.

(Received February 10, 2026)

Bo-Yan Xi

School of Mathematical Sciences
Inner Mongolia Minzu University
Tongliao 028043, Inner Mongolia, China
e-mail: baoyintu78@qq.com

ORCID: <https://orcid.org/0000-0003-4528-2331>

Yan Wang

School of Mathematical Sciences
Inner Mongolia Minzu University
Tongliao 028043, Inner Mongolia, China
e-mail: sella110@vip.qq.com

ORCID: <https://orcid.org/0000-0002-2774-3547>

Feng Qi

School of Mathematics and Physics
Hulunbuir University
Hulunbuir 021008, Inner Mongolia, China
and

17709 Sabal Court

University Village

Dallas, TX 75252-8024, USA

e-mail: qifeng618@gmail.com

ORCID: <https://orcid.org/0000-0001-6239-2968>